46. (25+5)+(6-1) = ......
(A) 5
(B) 1
(C) 625
(D) 25

47. 6 kg 490 gm of sugar = ......
(A) 5490 gm
(B) 6490 gm
(C) 6000 gm
(D) 6940 gm

6 3.0 490 [ 38 = cevecerenen . 38,8,

(A) 5490 .
(B) 6490 (.
(C) 6000 .
(D) 6940 .

48. Arrange the following numbers in ascending order.

Part - C
MATHEMATICS (46-70)

grams of sugar.

QIo% Sopgwso e Boos® @abod.

689, 698, 968, 869

(A) 689,968, 869, 698 °
(B) 968, 869, 698, 689
(C) 689,698, 869, 968
(D) 869,968, 698, 689
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49. Find the perimeter of the given figure.

(B) 50m 5m 10 m
- e
B0 9PN BoeSed 58508,

(A) 45 .

(B) 50 .

(C) 35 .
(D) 556 .

50. What is the place value of the underlined digit in the number 6396 ?
- 6396 Sopd® i Adondd o8 Gy, 135 o e Jou?
(A 9
(B) 900
(C) 90
(D) 9000

51. Iam a three digit number. I have 7 in hundreds place and 1 in tens
place. If you reverse my number, then there is no change in my
number. Whoam I?

o 3 wese Soggo. Hode 3;:6065 7, &0 5;:5065 1 &Tmem. 8538 o Howtione
SRS T T Dowtod’ Sty 5. 2% T39829

(A) 777
(B) 717
© M
(D) 177
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52. If R =5,then RRY|RY =7
If Q =5,@wéSRRR$R=?

(A) 10
(B) 15
(C) 20
(D) 25

83. 620 ml + ...... = 1 litre.
(A) 380ml
(B) 400 ml
(C) 308ml
(D) 480 ml

620 2.8, + ..coeue. = 1 dot
(A) 380 2.5,
(B) 400 20.8.
(C) 308 2.8.
(D) 480 20.0.

54. How many triangles are there in the given figure ?
el Beed’ Dy (BEbEres &THo0?

AN

| P

N A
N\

A 12
(B) 16
(C) 14
(D) 15
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55. What number will be the next in the pattern 14, 28, 56, 112, ...... ?
14, 28, 56, 112, ..cccciven BTG ) Doy 282
(A) 224 '
(B) 227
(C) 225
(D) 220

96. The product of two numbers is 56, if one of the number is 7, what is
the second number ?

Vot é'canse: SIS 56 088" o5 Doy T 298 0ol Sogg JoB?
(A) 3
(B) 6
©) 9
(D) 8

57. Expanded form of the number 862 ......
862 Soapd A30ed Erome
(A) 800 + 6 + 20
(B) 800 + 60 + 2
(C) 80+ 600 + 2
(D) 800 + 60 + 20

58. How many 200 are there in a thousand ?
28 008" I 200 9 &TH00?
(A) 4
(B) 6
(C) 5
(D) 3

VTG -BOOK-D [15]
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59.

60.

61.

62.

Q. Booklet :
Code D

What number will be next in the pattern 5, 9, 13, 17, 21, ...... ?
5,9,13,17,21, ...... BLoTS By Sopg B2

(A) 22

(B) 27

(C) 35

(D) 25

Find out the missing digit in the number 7 [] 5, whose sum of the
digits is 18. '
705 e Sog8® ecse Do 18 Hitayen Ib ecs Va9

A) 5

B) 9

(C) 6

D) 7

If ¥ 68 is distributed among 4 children, how many will each child
get?

68 Loty 4 Ko Deeks BT Hodd &.57,%,.08 Job Hikeod?

A) 17

(B) 14

(C) 12

(D) 18

What is the quotient ‘¢’ and remainder ‘v’ of the division 547 + 4 ?
(A) g=3 andr=136

(B) g=136andr=20

(C) g=136andr=13

(D) g =136andr =27

547 + 4 ¢rrss0d® gritpee ‘g’ Bebokn Tl 7 Jov?

(A) g=3 &8s r= 136

(B) g =136 wdai» r=0

(C) g =136 w8 r=3

(D) q =136 woawe r =27
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63. If 6 oranges cost T 54, then the cost of one orange 18)0seenn
6 TOce $o& Do T 54 ol X 0B B WO e
(A) 7
(B) 8
v (C) 9
(D) 6

64. Find the smallest four digit number formed by the digits 9, 8, 3, 6.
9, 8, 3, 6 eced NGB Teolh wcSy KR Sowg A2
(A) 3689
(B) 8639
(C) 6389
(D) 3869

65. 4 parts taken from 7 equal parts is ......
7 5570 P 00d 4 Press S PRirssn

@ g
® 7
© 1
o 1

66. How more is ¥ 200 than ¥ 65 ?
T 65 %oy T 200 ot Ks0
(A) T135
(B) T145
(C) T155
(D) T265
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67. What is the short form of 90,000 + 3,000 + 800 + 80 + 3 ?
90,000 + 3,000 + 800 + 80 + 3 G, o8 ErEE
(A) 90383
(B) 93883
(C) 93083
(D) 98083

68. 6 minutes 5 seconds = ...... seconds.
6 Do 5 VoD = .. DEoL.
_(A) 360
(B) 365
(C) 300
(D) 355

69. What number comes just after 21,9897
21,989 Somg Lo By Sogy
(A) 21,980
(B) 21,988
(C) 21,990
(D) 21,991

70. |
\ /

13 27

/|\

(A) 27
(B) 26
(C) 28
(D) 29
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